No.EO28 Ver.1.0

€02




ICT

1.70

4.70
2.00

2000cc




J-VER

J-VER



COo2

tCO2/

COo2

Co2 |
L]
CcOo2
CO2
COo2
CO2
Cco2
CcOo2
ERy = mln(BEy PE Y BEy < 02) PE Y
ERy
tCO2/
BEy Cco2 t-CO2/
PE COo2 tCO2/
0.2
PE y



l

BEy= =ZBE
BE y=PFC y < 1 o —+ 1000xCV yxCEF y
BEy CO2 t-CO2/
BE y COo2
tCO2/
PFC y |
a
CV y GJ/ke
CEF COo2 tCO2/GJ

PEy: PE 'y+ PE Yy

6.1

6.2

PEy CcOo2 tCO2/

PE y Co2 tCO2/

PE y
Cco2 tCO2/

PE y= = PFC y = 1000xCV yxCEF
PE co2 tCO2/

PFC |
CV GJ/ke
CEF CO2 tC0O2/GJ

PE y = ECI y X CEF Y



l

PE co2 tCO2/
EC MWh/
CEF co2 tCO2/MWh

( )
PE ,y=ES y X ET y > CEF Yy

PE Cco2 tCo2/
ES MW
ET y /
CEF y CO2 tCO2/MWh
PC
J-VER MRG
PFC y |
MRG 2.1
CcV GJ/ke
JIS
x<
x<
J-VER




l

MRG

21

CO2

CEF

CO2 tCO2/GJ

JIS

JVER

MRG

21

EC y

MWh/

ES y

MW

ET y

MW

MRG

2.2

COo2

CEF

CO2

tCO2/MWh

J-VER

J-VER




MRG

2.2




€02

1-S

1-S




!

Ver

1.0

2012/12/26

10



